EinE A B RL =3 ES

ERRERR[GIE

E

e EEHELEE(A)  m— S ETEE (A
1 BREERRELRR 11 3000 ¢ —— R () EHA) I
F296 | FI0E | SnFE | F2F | §3F | &
% £ 1 8| 242748 2088t 18314 15944 13848 & 2000 |
% E K 28 A 28 A 24 A 44N 20| B
B 15 & #%| 1326 A] 1,065 957N 802A[ 625A| %
[CEECEES [ og305| 636%| 51.1%| 746%| 595%| |
NEEHRIOSFEULDOE1LEE. F2LHFEDSE
XEGEEREIEHEOGESREULBEEZTT,
o BRISE&RR 294 T304 S E 24 S35
18 2R 3R 4R 58 68 78 8A 9A 108 1A 128
FEHH 174 11844 12644 10444 10744 10444 1104 11944 10744 11444 1154 14344
% EHE M 1A 2N 1A 3N 4N 1A 1A PN 2N 1A oA 2N
& & % 45 A 52N 62\ 50 A 47N 53A 51A 51A VPN 60N 61N 51N
3 BRI ERR 4 EHEIA
4 B M| HE | EEHR BHER 8| EBRE | BER
0 BF -2 BF 3 2N ) FEE H(N) X E RIS Ml 07% oA
2 B5 -4 B 544 N ) 3_\} HEEITP 204 14% 1A
4B -6 B 14 1A = &' W o 21| 6.6% 6N
6 ¥ -8 B¥ 884 ZUN ml £ O # 42|  3.0% oA
8 BF —10 Bf 2234 OA| 200 IN g 1631 11.8% N
105 -12 8% 26344 YN I mE E R 3445 25% (IPN
1285 -14 % 22414 1A B E 3374 243% 2N
14 5 -16 B% 23044 2| 100 = H & W 4594 33.2% 3N
16 BF —18 B 20544 1A | BBLEIREF 46|  3.3% 1A
18 B -20 B¥ 9144 6A B/ ThiaoeE 18] 1.3% N
20 B -22 B 2944 1A| © i A E B 1634 11.8% oA
22 B -0 B 124 (N z 0 i 135¢F| 9.8% (N
& &t 1,38444 22N U\ 119244 86.1% 6A
TEE R 8|  06% oA
5 LEHRERNR &) o | = Bt EE W 58  04% oA
£ & B 4% | BEHR 1066” | EIMEE) o | T % 5% & R 8| 06% 6A
£ A = 88t N :;ﬁ‘%ﬁ)ﬁ“‘“ i & I [ 02% 0A
E % =H| 203 1A z 0 i M 02% 1A
ERE= 194 1A 600 ¢ I Bt 2714 2.0% TA
B+ = 564 TN 400 | Mo 5| # 25| 0.1% 2N
B & HE| 134 1A & i 1,3844%| 100% 22N
% 17 & 8# oA| 200 |
F O 24 OAl o -0
& &t 1,38444 22N ;f o gj ﬁ g 3’; o’g 8 FHEWRE .
B o®E - 5 B F EHER i | BEEE
. EEmE D
RERTLET 431 5.1%
6 ERBRAIBERKRT 7 BEMNOOIEN B | SIEpnES 5544 6.5%
(BIEHE- H17E) M g RELrE 1030 12.1%
i) = | BrTE i R
210 T D — | ZxE:ER a2 4.9%
12044 3 [ BE sefr| 6%
o = EJJE%?FEITE 404 4.7%
g FEHH o1 51;‘ - REFHER 12844 15.1%
1,38444 EUN Z0its o748 32.2%
4744 . S e
HELE(AM) HlDERE 8504 100.0%
TEA ESER 244 2.3%
ik E TEETE R 234 26.4%
1644+ ?I EREL 56|  64.4%
# [ ZTofth 614 6.9%
HTHEDERE 874| 100.0%




